202 15E1 18 ETC2.0 (DSRC) &R

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,359 194 11 236 172 34 2,972
SRR 487 103 0 46 85 9 721
aFR8 603 58 2 54 105 20 822
=R 1,434 153 6 127 257 82 1,977
AR 459 32 2 8 65 6 566
LR 638 43 3 40 108 19 832
EER 1,357 138 6 99 254 63 1,854
KR 2,701 169 9 214 467 209 3,560
N 1,833 122 5 140 398 151 2,498
HER 2,196 133 3 176 393 132 2,901
BEE 7,859 415 13 513 1,850 601 10,650
FEE 5,901 300 19 456 1,170 446 7,846
RRED 12,744 345 28 630 2,202 1,179 15,949
fESNS 9,181 251 8 527 1,919 807 11,886
Fins 1,300 136 2 87 243 51 1,768
2R 673 46 3 50 92 25 864
alllR 693 50 1 84 114 48 942
BHE 511 32 1 31 67 11 642
LIS 714 26 1 27 170 60 938
REFE 1,429 98 8 82 342 98 1,959
I RIS 1,698 176 6 121 385 107 2,386
EEIR 3,056 216 1 183 800 267 4,256
BHE 8,294 442 12 483 1,662 750 10,893
=ER 1,529 96 1 79 435 136 2,140
BER 926 80 3 25 197 62 1,231
RERRT 1,732 119 6 190 457 221 2,504
ARRAT 7,162 589 19 695 1,603 708 10,068
"ER 4,050 184 3 192 924 425 5,353
ZRE 852 59 0 30 167 40 1,108
AL 585 64 1 53 174 57 877
SWE 337 20 0] 16 80 21 453
ERE 376 45 0 24 115 22 560
A L= 1,304 150 0 110 322 103 1,886
LBE 1,772 124 7 137 467 209 2,507
Hijm[= 853 62 2 48 237 55 1,202
e 441 16 1 23 96 19 577
&HIIE 660 54 1 58 152 69 925
BER 720 56 1 38 192 83 1,007
=R 308 21 0] 7 105 20 441
ERR 3,388 229 2 280 805 361 4,704
EER 321 62 4 45 91 30 523
RIBE 571 66 0 25 175 58 837
HEARIR 818 85 1 78 193 83 1,175
AHE 592 61 1 90 148 39 892
=IFE 533 31 1 27 183 36 775
BREE 745 57 4 47 191 68 1,044
FHEE 271 3 3 7 53 33 337
tT=4 0 0 0 0 0 0 0

a&t 98,966 6,011 211 6,738 20,882 8,133 132,808




202 1FE1 18 ETC2.0 (DSRC) EiERI4ER - iR
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BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 1,675 128 0] 170 150 29 2,123
SRR 401 63 0 32 77 6 573
aF= 446 35 2 30 96 17 609
=R 1,006 82 2 78 210 59 1,378
AR 356 16 2 3 51 1 428
LR 486 24 0 26 92 16 628
mEE 1,025 92 1 68 227 48 1,413
KR 2,026 88 0 146 372 150 2,632
N 1,412 85 1 99 342 117 1,939
HER 1,677 85 0 99 320 84 2,181
BEE 5814 293 9 376 1,514 416 8,006
FEE 4,360 183 3 276 958 322 5,780
RRED 9,041 219 2 441 1,809 948 11,512
fESNS 7,016 164 1 380 1,619 620 9,180
Fins 990 85 1 59 199 31 1,334
2R 502 41 0 32 85 21 660
alllR 481 30 0 57 91 36 659
BHE 373 18 1 23 59 8 474
LLBR 556 16 0] 20 155 52 747
REFE 1,029 59 2 58 292 76 1,440
I RIS 1,309 110 1 96 335 81 1,851
EEIR 2,349 133 1 145 694 212 3,322
BHE 6,055 287 4 333 1,428 620 8,107
=ER 1,188 65 0 57 386 112 1,696
BER 718 28 0 13 156 40 915
RERRT 1,325 75 2 162 389 166 1,953
ABRAT 5,192 371 3 452 1,338 553 7,356
"ER 3,020 109 1 119 780 337 4,029
ZRE 645 34 0 21 148 36 848
AL 414 22 0 33 151 46 620
SWE 264 11 0] 8 70 18 353
ERE 293 27 0 18 98 14 436
A L= 921 101 0 66 274 82 1,362
LBE 1,313 70 1 85 406 168 1,875
Hijm[= 646 43 0] 37 207 42 933
e 338 12 0 15 84 17 449
&HIIE 495 33 1 47 123 48 699
BER 510 40 0 33 148 57 731
=R 251 13 0] 4 97 17 365
ERR 2,352 119 0 174 683 278 3,328
EER 255 32 0 28 78 24 393
RIBE 417 34 0 13 148 50 612
HEARIR 569 55 0 45 168 68 837
AHE 450 37 O] 76 134 35 697
=IFE 424 21 0 20 166 33 631
BREE 586 42 0 36 165 53 829
RIS 191 3 0] 2 45 28 241
tT=4 0 0 0 0 0 0 0

a&t 73,162 3,733 41 4611 17617 6,292 99,164




